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Guess Paper – 2011
Class – XII
 Subject – Accountancy
Time:3 Hrs.                                                                                                                                         M. Marks : 80

Part A

                     Accounting for Not-for-Profit Organisations, Partnership Firms and Companies

1)  How are the affairs of  a non-for-profit organisation managed?                                                                          
( 1 )

   2)  State any two essential elements of partnership.




                          

( 1 )

   3) Define Goodwill.








      

( 1 )

   4) Give any two probable reasons for retirement of a partner.



                   

( 1 )

   5)  What are Preference Shares?





                               

( 1 )

6) M Ltd.forfeited 1,000 shares  of  Rs. 10 each (Rs 8 called up)  for the  non - payment  of  the  allotment money of

       Rs  5 per share including Rs 2 as premium. Out of these 800 shares were  re-issued at Rs 9 per share as Rs 8 called

           up. Journalise                                        .                                                                                                                     ( 3 )

7) K Ltd. took over assets of Rs 3,00,000 and liabilities of Rs 40,000 of A Ltd.at an agreed purchase consideration 

      of Rs 2,40,000 to be satisfied by the issue of 12% Debentures of Rs 100 each at a discount of  20% Journalise    ( 3 )

8) From the following extracts of Receipts & Payments Account and the additional information, you are 

     required to calculate the Income from Subscriptions for the year ending December 31,.2002 and show 

     them in the Income & Expenditure Account and the balance sheet of a club.

                                  An extract of Receipts & Payments  Account

                                          For the year ended 31st December 2009

	Dr.
	
	
	
	Cr

	Receipts
	Rs
	Payments
	Rs

	   To Subscriptions
	
	
	

	2001             5,000
	
	
	

	2002           32,000
	
	
	

	2003             7,000
	42,000
	
	


Information:

a) Subscription outstanding on 31.12.2001                                  Rs 6,000

b) Subscription outstanding on 31.12.2002            
                   Rs 5,000

c) Subscription  received-in-advance on 31.12.2001                   Rs 6,000                                                          ( 3 )

9) Kapil Ltd. was registered with an authorised capital of  Rs  1,00,00,000  divided into 1,00,000 equity shares of  

        Rs 100 each.  The company offered for  public  subscription  70,000  equity shares.  Applications  for   57,000 

        equity shares  were  received  and  allotment   was   made to all the applicants. All the  calls  were  made   and 

        were duly received except the second and final call of  Rs.20 per share on 700 shares. 

Prepare the balance sheet of the company showing the different types of share capital.                      ( 4 )

10) X and Y are partners in a firm sharing profits in the ratio of 2:3.The Balance Sheet of the firm as  on 31.3.2007 is given 

         below:                          

	[image: image1.png]Liabilities
	Rs
	Assets
	Rs

	Capitals Accounts:
	 
	Land
	5,00,000

	X                       8,00,000
	 
	Buildings
	 6,00,000

	Y                    12,00,000
	20,00,000
	Plant
	 8,00,000

	Creditors
	 3,10,000
	Furniture
	 1,20,000

	Expenses outstanding
	    10,000
	Stock
	 1,80,000

	General Reserve
	    60,000
	Debtors
	 1,50,000

	 
	 
	Cash
	    30,000

	 
	23,80,000
	 
	23,80,000


              The partners decided to share profits in equal ratio with effects from 1.4.2007.The following adjustments were agreed upon :

a) The goodwill of the firm was valued at Rs 4,00,000.

b) Land was valued at Rs 8,00,000, Plant at Rs 7,20,000 and Furniture at Rs 1,00,000.

Partners agreed that revised values are not to be recorded in the books. They also do not want to distribute General Reserve.

Pass necessary journal entries to give effect to the above.                                                                             ( 4 )

11) P, Q and R were partners in a  firm  sharing   profits  in the ratio 1:2:2.After  division  of   the  profits for the year-ended 31.3.2007 their capitals were :P-Rs 1,50,000; Q-Rs 1,80,000; and  R- Rs 2,10,000.during the year they withdraw Rs 20,000 each. The profits of the year was Rs  60,000.The partnership  deed  provided  that  interest  on  capital  will  be  allowed  @   10% p.a. While preparing the final accounts interest on partners capital was not allowed .

You are required to calculate the capital of P,Q and R as on 1.4.2006 and pass the necessary adjustment entry for providing interest on capital. Show your workings clearly. 

12) The following is the Receipt and Payments A/c of Queen’s Club for the year ended 31st March 2009: 

	Receipts
	Rs.
	Payments
	 
	 
	Rs.

	To Balance b/d
	1,82,000
	By Salaries
	   1,66,000

	To Subscriptions
	1,80,000
	By Stationery
	32,000

	To Tournament Fund
	1,64,000
	By Rent
	48,000

	To Interest (Investments)     
	   65,000
	By Telephone expenses
	8,000

	To Donations
	1,12,000
	By Sports material & expenses
	78,000

	To Sale-concert tickets
	2,47,000
	By 6% Investments
	   5,00,000

	 
	
	 
	By Miscellaneous expenses
	24,000

	 
	
	 
	By Concert expenses
	58,000

	 
	
	 
	By Balance c/d
	36,000

	 
	 
	9,50,000
	 
	 
	 
	9,50,000


      The following additional information is provided:

a) Subscription include Rs 22,000 for 2007-08 and Rs 8,000 for 2009-10

b) Stock of stationery on 31st March 2008 and 2009 was Rs 4,200 and Rs 6,400 respectively.

c) Stock of sports material at the beginning and end of the year was Rs 18,000 and Rs 31,000 respectively

d) Rent includes Rs 4,000 paid for March 2008;Rent for March 2009 is Outstanding.

e) Telephone expenses include Rs 3,000 as quarterly rent up to 31st May 2009.

f) The value of Building as on 31st March 2008 was Rs 8,00,000 and you are required to write off  depreciation   at  5%.

g) The value of investment on 31st March 2008 was Rs 10,00,000 and the club made similar  additional investment during 

        year on 1st October 2008.

You are required to prepare Income and Expenditure Account of the club for the year ended 31st March  2009.   

                                                                                                                                                                                   ( 6 )    

13) The following is the Balance Sheet of A and B as on 31st March,2009:

	Liabilities
	 
	 
	Rs 
	Assets
	 
	 
	Rs

	Sundry Creditors
	 30,000
	Cash
	
	    500

	Bills Payable
	   8,000
	Bank
	
	 8,000

	Mrs.A's Loan
	   5,000
	Stock in Trade
	
	 5,000

	Mrs.B's Loan
	 10,000
	Investments
	
	10,000

	General Reserve
	 10,000
	Debtors
	20,000
	
	 

	Investment Fluctuation Fund
	   1,000
	Less:Provision
	  2,000
	
	18,000

	Capitals:
	 
	Plant
	
	20,000

	A               10,000
	 
	Building
	
	15,000

	B               10,000
	  20,000
	Goodwill
	
	  4,000

	 
	
	
	 
	Advertisement Suspense A/c
	  3,500

	 
	 
	 
	84,000
	 
	 
	 
	84,000


The firm was dissolved on 31st March 2009 on the following terms:

a) A promised to pay Mrs. A’s  loan and took away stock in trade at Rs 4,000.

b) B took away half of the investment at 10% discount.

c) Debtors realised Rs 19,000.

d) Creditors and Bills payable were due on an average basis of one month after 31st March, but they were paid immediately on 31st March  at 6% discount per annum.

e) Plant realised Rs 25,000,building Rs 40,000,goodwill Rs6,000 and remaining investments at Rs 4,500.

f) There was an old typewriter in the firm, which had been written off completely from the books, it was estimated to realize Rs 300;B took it away at this estimated price.

You are required to prepare (a) Realization Account,(b) Partner’s Capital Accounts and 

              (c) Cash/Bank Account to close books of the firm.

                                                      ( 6 )

14) A and B are partners sharing profits and losses in 3:2 ratio, on 31.3.2007,they admit C into  partnership for 1/5th share in 

         profits. On that date their Balance Sheet stood as under: 

	Liabilities
	Rs
	Assets
	Rs

	
Capitals:
	 
	Goodwill
	     5,000

	A                         60,000
	 
	Plant & Machinery
	   65,000

	B                         50,000
	1,10,000
	Furniture
	   15,000

	General Reserve
	  10,000
	Investments
	   20,000

	Sundry Creditors
	  50,000
	Stock
	   20,000

	 
	 
	Sundry Debtors
	   30,000

	 
	 
	Cash
	   15,000

	 
	1,70,000
	 
	1,70,000


              C was admitted on the following terms:

a) C is to bring capital Rs 40,000 and goodwill Rs 15,000.

b) Partners agreed to share the future profits in the ratio 5:3:2.

c) Investment will be appreciated by 20% and furniture depreciated by 10%.

d) One customer who owed the firm Rs 2,000 become insolvent and nothing could be realized from him.

e) Creditors will be written back by Rs 2,000.

f) Outstanding bills for repairs Rs 1,000 will be provided for.

g) Interest accrued on investments Rs 2,000.

h) Capital of the partners shall be in proportionate to thir profit sharing ratio, taking C’s capital 

       as base. For this purpose, adjustments to be made through cash.

Prepare revaluation Account, Partner’s Capital Accounts and the Balance Sheet of new firm.   

                                                               OR

 X, Y and Z are partners sharing profits in the ratio of 5:3:2.Their Balance Sheet as on 1.1.2007, the day Y decided to retire was as follows:

	Liabilities
	 
	 
	Rs
	Assets
	 
	Rs

	Capital:
	 
	Building
	25,000

	X              30,000
	 
	Machinery
	15,000

	Y              20,000
	 
	Investments
	10,000

	Z              20,000
	70,000
	Joint Life Policy
	15,000

	General Reserve
	10,000
	Debtors
	10,000

	Creditors
	  7,000
	Stock
	  5,000

	Bills Payable
	  3,000
	Cash
	10,000

	 
	 
	 
	90,000
	 
	 
	 
	90,000


The terms of retirement were:

a) Y sells his share of goodwill to X for Rs 8,000 and to Z for Rs 4,000

b) Stock to be appreciated by 20% and buildings by Rs 5,000.

c) Joint Life Policy was surrendered for Rs 7,000 and investments were sold for Rs 22,000.

d) Y is paid off in Cash to be brought in by X & Z in ratio 3:2.

Prepare Revaluation A/c, Partner’s Capital Accounts, Cash A/c and Balance Sheet of the new firm.                            







                                                               
( 8 )

15 (a)  On 31.3.2007,X Ltd.had the following balances in its books:

                     9% Debentures                                                  Rs 6,00,000

                     Debentures Redemption Reserve                      Rs 2,00,000

                    On that date the company decided to transfer Rs 1,00,000 to debentures Redemption Reserve and redeemed Rs 3,00,000  

               worth of  Debentures. Pass necessary journal entries in the books of the company.








    

              (b) On 1.4.2003 X Ltd issued   2,000   7% debentures  of  Rs 100 each at a discount of 10% redeemable at par after 4 years 

               by converting  them into equity shares of Rs 10 each issued at a premium of 25 %.Pass necessary journal entries for issue

               and  redemption of debentures.  







( 3 + 3 = 6 )

16) X Ltd.issued 20,000 equity shares of Rs 10 each at a discount of Re 1 per share payable as 

               follows:

                               Rs 3                                      On Application

                               Rs 3                                      On Allotment (after discount)

                               Balance                                On Call

             The issue was oversubscribed to the extent of 16,000 shares and allotment was made as follows:

             a) Applicants of 5,000 shares were given                        :  Full allotment

             b) Applicants for 1,000 shares were                                :  Totally refused for allotment

             c) Other applicants of shares were allotted shares on      :  Pro-rata basis

The excess application money received was to be adjusted against allotment only. All moneys due were 

received with the exception of the call money on 1,000 shares.

Pass necessary journal entries to record the above transaction

OR

 X Ltd.invited applications for issuing 40,000 equity shares of Rs 10 each at a premium of Rs 2 per share. 

The amount was payable as follows:

                          On Application    …………. Rs 6(including premium)

                          On Allotment      …………. Balance

                    Applications for 50,000 shares were received .Pro-rata allotment was made to all applicants  

                    Excess money   received on application was adjusted towards sum due on allotment.

              Y,a shareholder ,to whom 8,000 shares were allotted, failed to pay the allotment money and 

               therefore, his  shares were forfeited. 

Later on the forfeited shares were re-issued for Rs 70,000 as fully paid up.

             Pass necessary journal entries in the books of X Ltd.                                 

                             ( 8 )

PART B

Financial Statement Analysis

17. State whether shares issued for cash will result in inflow, outflow or no flow of cash? Explain the reason. 
(1)     


18.   Prepare a Comparative Income Statement of X Ltd. from the following information:

	
	
	
	
	
	2006
	
	2007
	

	
	
	
	
	
	
	
	
	

	Net Profit after tax
	
	
	
	78,000
	
	42,000
	

	Income Tax Rate
	
	
	
	40%
	
	30%
	

	Administration & Selling Expenses
	
	70,000
	
	60,000
	

	Gross Profit
	
	
	
	25% on cost
	33% on Cost


                                                                                                                                         

     
( 4  ) 19.  Under what headings will you classify the following items in a company Balance Sheet as per Schedule 

        VI Part I of the Companies Act, 1956:

a) Work-in-Progress

b) Reserve for Doubtful Debts 

c) Trade Marks 

d) Interest Accrued on Investments

e) Uncalled Liability on Shares Partly Paid

f) Development Expenditure, Not Adjusted.                                                                          
 
 20.  Current Liabilities of a Company are Rs. 5,60,000; Current Ratio is 5:2 and Liquid Ratio is 2:1.

Find value of Stock.                                                                                                     

        

21.  Calculate Gross Profit Ratio from the following data:

Credit Sales being 75% of Total Sales; Purchases Rs 3,45,000; Cash Sales Rs 1,00,000;  

Excess of Closing Stock over opening Stock Rs 25,000




         
( 2  )

       22.  Classify the following in to operating, investing and financing activities:

a) Royalty received                                 c) Refund of Income tax

b) Expenses incurred on production       d) Payment of interest on public Deposits                                                    

23.  From the following Balance Sheet of X Ltd. prepare Cash Flow statement:

	Liabilities
	2007
	2006
	Assets
	2007
	2006

	 
	Rs
	Rs
	 
	Rs
	Rs

	Equity Share Capital
	2,50,000
	2,00,000
	Goodwill
	   20,000
	   30,000

	12% Pref.Share Capital
	   40,000
	   50,000
	Building
	   80,000
	1,00,000

	General Reserve
	   55,000
	   35,000
	Plant
	   70,000
	   40,000

	Profit & Loss Account
	   32,000
	   -------
	Debtors
	1,60,000
	1,20,000

	Creditors
	     5,000
	   23,000
	Stock
	   20,000
	   18,000

	Provision for Taxation
	     6,000
	     5,000
	Cash
	     5,000
	   22,000

	Proposed Dividend
	   12,000
	   10,000
	Bank
	   45,000
	    --------

	Bank Overdraft
	  --------
	   27,000
	Profit & Loss Account
	   --------
	  20,000

	 
	4,00,000
	3,50,000
	 
	4,00,000
	3,50,000


Additional Information:

(a) Depreciation charged on Plant was Rs. 30,000 and on building Rs. 50,000.

(b) Preference shares were redeemed on 31.12.2007.

(c) Income Tax paid during the year Rs. 5,500.

(d) Interim dividend amounting to Rs. 5,000 was paid during the year.                                                                  ( 6 )
Submitted By : 

Girish Sehgal

C/o Step – N – Success

64, Ajanta Colony, Green Avenue, Amritsar

Mobile No. 8146755388
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